B.Com. 1st Year

Paper-l : General English

Ae— f=fafag ¥ 9 &S f9 ue=i & SR e

Answer any three questions of the following.

1. Write an essay in about 250 words on any one of the following,
Pollution, Student unrest, Information Technology, My hobby

2. Write a letter to a friend inviting him to your sister’s wedding.

3 Make a precis of the following passage and give a suitable title.

In your revision you should not need to re-read your textbooks extensively. Re-reading
should be kept to a minimum. This 1s why a set of well kept notes 1s so useful: instead of having
to cover hundreds of pages of text you should have an outline in your note-book. Course, you
may, in your final revision, find some exciting new book which gives new and helpful facts and
principles. But unless 1t 1s absolutely relevant to your purposes, it is probably as well not to try to
master much new matenal in the final revision.

4. Answer the following
1) Write a composition giving the life-story of Tolstoy’s wife on the basis of what you have
read about he 1n the lesson ‘Leo Tolstoy’
11) Write a composition describing the plight of any poor person you may have known at first
hand
5. Make a report to the District Collector about the:
1) Setting up of a mini factory 1n your neighborhood and the consequent noise pollution.
11} Absence of night patrols and the increasing cases of thefts in your locality.
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Answer any three questions of the following,

1. frafafaa sraaRvl @ |y e 9w |
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Paper-II : Financial Accounting
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Answer any three questions of the following,

1. TRATERE @) WHSIAN HAT 27 fF2l IR Hhea=msil &1 v IR |
What are Accounting concepts? Describe any four concept.
2 9% FAMM R {59 d5d 87§90 99 BT I3l ATaRIAHT B |
What do you mean by Bank Reconcilisation Statement? Why is it prepared?
3 oyl fFa geR P Bl 87 ST GuR 69 USR R S 27
What are kinds of errors? How these are rectified?
4. FERTET T MA@ BT FAHR0T fHa arT # oz siman 87
In how many Assets and Liabilities can be classified?
5 NYIRY2:2:1% JGUM H o™ i fIwIfHT S 30 Al 21| 31 [SHRR 2008 1 S&T faear

frferiad e
A, B & C were partners sharing profit & losses as 2 :2:1. Their Balance sheet as at 31st Dec., 2008 was as

follows
Balance Sheet as at Dec. 3, 2008
Creditors 2000 Cash in hand 2000
Capital Debtors 1300
Less : Provision for Bad 1000
Debts 300
A 3000 Stock 2000
B 2000 Fixtures & Others 5000
Assets
C 1000 8000
10000 10000
7 HEER # faued o1 FAEa e gy Aefafda ke aga sw )
fhaad vaq IR 450069

ICTH 2260 TWO GR 900 FO
SR BT YUT 7T & 1900 W0 f&am =)
I G T 60 w0 T
B D KD g1 B & AU T gidgedi ST T=u1 3 Ab T g2V |
They decided to disolve the partnership the following amounts are realised
Fixtures & other Assests R. 4500
Debtors Rs. 900
Creditors were paid in complete discharge Rs 1900 expenses of Realisation amount to Rs. 60
6 XY 3R Z GEIRR T 3R 1 SN 2009 BT ST Yol SHHEE 40000 0, 27800 0 3R 15000 I & | oM
RO & Uscl Uidas Y T 2500 0 T KT IR Z BT 2000 W0 BT K oF BT SJWHR & Jofl W 5% At
WY @ ST T IR BT W PR @ T8 2| g (R AR oM I Ul 10000 B9 Bl X 40%

BT AREA T Y 35% FTZ 26% F IAH 3AiB AT BT 3OF H RER RWER dicAl B a0 F 37T § 31
ATRT 2000 BT I BT Sfde FTT & UK TR AT DI Slde T F gl BH Bl M 23170 TIY o1
3IR HRIERT ¥ ¥ UIP & 8000 WU &I Sl 3R M P Hapied forRIT | &M I e i TR i |
X, Y & Z are in partnership and on Jan. 1, 2009 their respective capital were Rs. 40000/- Rs. 27800
and Rs. 15900 Y 1s entitled to a salary of Rs.2500 and Z Rs.2000 P A payable before division of
profit. Interest is allowed on capital at 5% P A & is not charged on drawings of the net divisible
profit X is entitled to 40% of the first 1s 10000, Y to 35% & Z to 25% over that amount profits are
shared equally. The profit for the vear ended Dec. 31, 2009 after debiting Partners salaries but
before charging interest on capital was Rs.23170 and the partners had drawn Rs.8000 each on
account of salaries, interest & profits. Prepare profit & loss appropriation A/c.




7. I W QG Y T FHI 8¢ I fhdy YR &l BT 87

What do you understand by branch Accounts? What are various kinds of branches.

8. IR @ ufem AT iR RN & (a%ad vl gasd?

Define partnership & give its essential characteristics.
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Answer any three questions of the following.

1. Tor=l 31 afrer <iRTT | % {59 UoR wnfua @ IRl § ok 59 JeR 99 @1 SRl
a?
Define Agency. How 1s 1t created and terminated?

2. WA 9y Ia=er BT URIo BIRAY (“fasha” qen f6rg & 38vd H 3R gaensy |
Define a contract of sale of goods.Distinguish between a sale and an agreement fo sell.

3. e BT Ry Y T M vd Fedugiar & Sl BT Seoid BT |
“Define bailment and state the duties of a bailor and a bailee.

4. AT FEIG | &1 AR 2? g w9 B AR B aviF S
What is meant by discharge of contract? Describe the methods of discharge of contract.

5. ARRRI & AMPRI 3R FTAl B Icod PIfoTY |
Discuss the nights and duties of partners.

6. SUMGT EReTV HET 1986 & <IN dwaid, A Al RAAT SUHERIT HETOT YRYE]
GrET WIETAT BT Seoied BIfU | State the provision of consumer protection Act, 1986
with regard to the central, State and District Consumer Protection Councils.

7. SudidT Aol ¢ fAaror ¢ v Sudedr Sxemr sifefios § &) TR =aRen $1 Wem |
o HIFU |

Briefly describe the consumer disputes redressal Machinery given in the consumer Protection
Act, 19862
8. faferaaramer farorer R 87 g faeamd forf&ry |

What 1s negotiable mstrument? Write 1ts characteristics?
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Paper-1V : Tax Procedure and Practice
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Answer any three questions of the following.

1. PR B GABIOT BITY T JeIeT Ud T i P [o—al fAfag |
Classify taxes and write merits & demerits of Direct & Indirect Taxes.

2. H{U ARBR b Feg § [P Higrd d@ fafEaw | t gim ol & AW fafEe s 9 9

e 81 il | 3mg | T8 |
Write a short essay on Agniculture Income Tax. Write any five Income which are related to
Land, but are not Agriculture Income.

3. frafafad oma it o 8 steran 78| smaey @1 gReadoT 9 fademT S |
1.

2.
3.
4
5

TRA # fFH A g F1 RY W) S8M ¥ U I et 1 §iy eEt @ forg
farar S 2|

RT H A1 IR 3|

I R W ST U R § 8F Tl 3 |

TR B W e Gl 3§ 3 ¥ U AnRT |

Y FRT & (AU $aex e (R o o9 | |

Whether the following incomes are Agriculture Income? Discuss from the following tax
point of view.

1.
2
3.
4.

5.

Income received from letting of a land situation in India which is used for Agriculture
Operations.

Income from tea Gardens in India.

Income from trees and Plants grown by nature on the land.

Divident receives from an Indian Co., the entire Income of which from 1s Agriculture
Income.

Income from letting of tractors etc. for Agriculture Purposes.

4, ORI oo UREliT B A/CIY B 950 Y Bl <R > G99 H ARG o (AR |
Write a detailed notes on Rates under the Rajasthan Value Added Tax Act.

5. B4 fama FX AT 1956 & Il Ta FRIVARI &1 auiF Bty |
State the objects and special features of the central Sales Tax Act 1956,

6. 31 faWsR, 2008 BT UK B arel fA9ET & U 49 IFTTe AIgend, Bl Wl U
USlidrd & & @l (963 &1 [qoRoT 71 YR g

®UY

1. THE 600000
2, AR T 350000
3. JID 75000
4. 391 vd g 950000
5, YRd 9§ faia 500000
6. IO H 9971 T 71 800000
7. IR TRy O A1 BT 51 IR Y &1 X 20% B

TG UTSBT 1 24000 ®WO BT HA T 718 | el

& e 444000
8. AN faspa T A1 &1 g IR ax T &%

1250% & TT UTBHT 9 11250 ®0 BT A S A8

H e fear en 450000
10, Q1 U9 s 300000



11, Tie, Uhd 50000

TH GID 1 Ud sl 9 wie ultad o qeu uRkafda R iR & asa @R
74 € |

SUad GATRI B ATAR IR AR IMUTA AIBTArT B 31 faT=R 2008 BT UG B
arcil fomsl & T s fawa e ftfe & st arg fama $1 oM ity |

The total Sales of M/s Ram Gopal Mohan Lal, Kota a registered dealer for the quarter ending
31st Dec., 2008 are as under

Rs.
1. Salt 600000
2. News Paper 350000
3. Books 75000
4. Shares and Securities 950000
5. Exports from India 500000
6. Goods Sold in Rajasthan 800000

7. Inter State Sales (the rate of tax on these goods 1s 20%

and the customers returned goods worth Rs. 24000/- in

the 4th Month. 444000
8. Inter State Sales (the rate of tax on these goods 1s 12.5%

and the customers returned goods worth Rs. 11250/- in

the 8th Month. 450000
9. Sale of Bura and Mishri 300000
10. Sale of Slate Pencils 50000

Salt, Books Bura and Mishri and Slate Pencils are exempt under the Rajasthan Value Added
Tax Act.

On the basis of above information, Calculate the amount of taxable turnover of M/s Ram
Gopal Mohanlal for the quarter ending on 31st Dec. 2008 under the C.S.T. Act.

7. 99 g9 AU W WBHI BT 12% ARG deel od & | R dde Iae w0
3%Vd U gwE | YA 1 R 2% FHe g8l Wl &d § ofel Y¥ie deel o ¥ Ud
4200000 W0 ®I AT WeRIT i &1 (FE 500000 w0 BT €561 PR ISR T AAl B
TRIT 200000 w0 BT faspY HR T Al @1 B | T W1 BT 60% THa GIAH U gl
21 Y ] BT 75% UH IS & ¥iaR UK B3l | ASTRRIF e URaRid HR M &
=TT 9 Ml FEH P PR AT T SIS |

M/s Sharma Brothers allow a Trade discount @ 12% to all customers. They also allow a
cash discount of 3% on cash payment and 2% on payment made within a week. The Account
book shows a total Sale of Rs.4200000 before allowing trade discount. It includes a sale of Rs.
500000 om respect of tax paid goods and Rs.200000 in respect of exempted goods. 60% of the
total sale was recerved, in cash and 75% of the remaining sales was recerved within one week
calculate taxable tumover of M/s Sharma Brothers under the Rajasthan Value Tax Act.



B.Com 1st Year
U9 U — AE9Re HiRkaa!

Paper-V : Business Statistics

Me— F=faRag § 9 B fF yE=T & SR g

>

Answer any three questions of the following.

HRo®w & 0T IR TRAHT Fa=0 |
Explain the merits and limitations of Mode.

A= YR & THB1 & AT |HIR ARG dAT ARG FHIR AR B URE Ul Sd]
WIOMT 8 P RN 2 | TR |

Explain the definition of different types of fmean and weighted mean as per data and how to
calculate 1t.

Hfedt vd Wl Qi aRfE § s=R W 7 SRRl 9fdd ausnEy |

Explain with example difference between simple and difficult statistical tabulation.

HIREBT F1 AT | U F1 SR 27 1 Aifess) R g9a fog RmeR 27

How do you understand distrust of statistics. What statistical thought is resonsible for that?
Gerhich F1 87 GABID! B To1 § M ATl FHRIAT BT TRIET0T BT |

What is Index, What types of problem arises in construction of Index?

FTd AT &1 7? BT A & USHI BT TS |

What is time series & explain its components?

SAF DI WY fI9H BT T BT | SIIEROT A |

Explain Standard Error of Estimate with example.

fefeiae THebT | Bifc FE—FmE= TONE A BT |

Calculate the rank co-efficient of correlation

75 88 95 70 60 80 81 50

120 134 150 115 110 140 142 100
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Paper-VI : Business Economics

Ae— f=fafag ¥ 9 &S f9 ue=i & SR e

1.

4.

41

o}

Answer any three questions of the following.

T F R F EwEn F | rreter AhTam gEt R A w6 gEd €7
Explain the law of demand. Why most demand curves slope downwards to the right?

ST 6 fFd $Ed 8° ISTMIAT aF &1 WERdl 6 SUFRST §qad &1 aui $Ifurg |

What are indifference curves? Explain the consumer’s equilibrium with the help of
indifference curve approach.

. FERYId TF P ASTId] W SUEE AT B W BHIIT |

Explain the producer’s equilibrium with the help of ISO-product curves.

TAAEEAT B IJdperad RIgT &I AR HIFAY |

Explain the optimum theory of population.

. od Fag # 9 T @ "R @l e ST |

Discuss the importance of time element 1n the theory of value.

. o1 R & Jraia JieUdTd H Hed Ud SR IR P UER BT 87 §Hsey |

How 1s price and out-put determined in the short term under the
conditions of the perfect competition? Explain.

7. faoRoT & G SeeEar g B A ST |

o)

Explain the marginal productivity theory of distribution.

NI s T 3 A Rt &1 avlE sifoin

Discuss the various methods of calculating of national income.
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Paper-VII : Business Budgeting
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Answer any three questions of the following,

1. goied & am Ud GEwsll &1 fGaaa By |
Discuss advantages and limitations of Budgeting.

2. goled & Ie AU qor HgRiel] guied WUlell & SIaedd < (e |
Write the objects of budgeting and write the essentials of an effective budgeting system.

3. FEARE [@gAH & Ayl el &1 e S |

Discuss the imporant theories of business forecasting.
4, AP YA & q8ed $I [daadr Bifv |
Discuss the importance of business forecasting.
5. qreficl golc F1 27 §9& U1 I 1 ferem I |
What 1s flexible budget? Discuss 1ts merits and demerits.
6. AP FUAT HT ARCTY Fulc TIR HIAT § ST 9 Fawedi o)
3TENRA 2 |
You are required to prepare company’s master budget that based on the following information:-
Sales Rs.10,00,000

Direct material cost 50% of sales
Direct Wages 25 workers (@ Rs. 120/- per month
Factory overheads

Indirect Labour
1. Works manager (@ 500 per month
2. Foreman {@ Rs.350 per month

Stores and Spares 3% on Sales
Depreciation on Machinery Rs. 15000/-
Light and Power Rs.6000/-
Repairs & Maintenances Rs.10,000/-
Sundry Expenses 10% on Direct wages
Administrative selling & distribution expenses Rs.20000/-
Interest from investment Rs.10000/-
Provision for Tax Rs 50000/-
Dividend Rs.100000/-

7. U BT BT U HEIH H U 9% DI 100000/ — FHISIT & 1 &I &AW1 T | f9pa fawmr
T FTER g qoa & fFrafaie e s 8-

In a Company, the capacity of production of a product 1s 100,000 units per month. Sales
department opines, following statement of selling price is  possible-

Volume of production Selling price percent
% Rs.

60% 0.90

70% 0.80

80% 0.75

90% 0.67

100% 0.61

3 W B A A ) oRedaeia ara 15 09 ufT g6 & 9o ReR @RTA 40000
w0 T UAP R W q¢T g3 I U9 SR g gU U R0 GuR e | Seam @) fa
AT W) AP ARFTH 89 ¢ |
At these level, the vanable cost of manufacturing is 15 paisa per unit and fixed cost 1s Rs 40,000,
Prepare a statement, showing increment in cost and 1t’s difference at each level. At which level
profit 1s maximum.

8. 1 R fewfir fafRau—



Write shortnote
(31) STIET & ddbfoud FREmi H1 SUANT |
Use of alternative production facilities,
(@) Yoi STUIE ST BT SUIT |
Utilization of full production capacity.




